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1. =857 35004000 #i/ /BT (fREE. fEmE)
2. ZEHE: 100-500m1

3. FEER: ©55-100m

4. AEFSE ZFMEMER. R TRE.

5. #fE: 380V50Hz

6. ThE:4. Skw

7. 2EE: £600kg
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1. JEEETEE: 1502-180g

2. JEEEEER: 2800-3000 #/A (180z/#8)
LUERETRE: £2-3:

4 FiEEE: 38280V

5. HISEINE: £76. Okw

6. T{ESE: 0.6~0.8Mpa

THIESEE: £ 500kg

8 EHEREE: 45—~T0Kg

9. SMERF: 1800950 X 2150mm

E @

ET
Lilk:

o

e
Al =

12LEHE
EhEs il

1. =R & (V/Hz) : AC220/50

2. IhEE: 10KV

3. FHREA (m) : 80-150

4 EWHRZ (mm) : 40-80

5. iEMHERE (mm) = 50-80

6. T{ESE(MPa): 0.5-0.8

7. EE:350kg

8. 778 G/ T3k 1800-2000 #/ /e

9. AMERST: (LXWXH (mm) 2000%#900%1900mn
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1. A= EE77: 2000-6000 L/ /hET
2. FEME: 50-1000m1
LS ER: $35-150mm
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4, 2E: 380Vi0Hz
5. T 30kw
6. EEE: £ T00kg
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1. TEFRERE: 3500 FL//MEf

2. FERFEE: +lm (FEAFERFESERES)

3. ERAEERT: EE50-100m: &F 100-200m;
4, EREHREEE: £F 20—150m. EEEE 20-150m
5. JAREHEE: JH2300 A, AE T6m

6. HEEAERE: 0-501C/15-85%

7. EEHFE: AC220v, 50HZ

8. RTREE: £74 2000 5T 1300 7 1600mn/%7 350K
9. ThE: 1. 10KW
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4, Bt 10, 6um

5 BERE: RREESEEEES

6, TFEEE: =T000mn s

TR AESRAIE. ARTTERE

8. BIERL: WINCE

9, AH R S

10, BEHL: £HE 150m
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12. #|AEFR: 0.03mm

13, EEETFEE0, 0lm
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1. E2EFE: =4 Ac220v, 50/ 60HZ, 2.5KW, E#8
2 AFEE: FEFERER 100m, FFEEE S A 200
¥ Ay

3LETFER: 28m 130m

4, TFEEE: 30m 250m

5. FFEERE: 0.035m"0. 13mm

6. TREEfT#l:. PVC. PET. OPS

T.30ZE: 20kw
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3. SIEFFE:15350-27W L
L¥EETREE: 82. 6
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